
With Rockler hardware 
and simple techniques, 
you can add style and 
storage to your space. ROLLING OTTOMAN

GET FROM ROCKLER

Stock #	 Item
42318	 #8 x 1 1⁄2" Recex 

Combination Recess  
Screws, Zinc

42315	 #8 x 1 1⁄4" Recex  
Screws, Zinc

70565	 Decorative Washers  
- Nickel (2 pks.)

46591	 40 lb. Torsion  
Hinges (1 pk. of 2)

46252	 60 lb. Torsion Hinge
90192	 Black Leather 

Handle (2)
20839	 Pinned Loops 

	

37931	

- Nickel (2 pks.) 
Skate Wheel Caster, 
Grey
Large Round Door 
Bumper Cushions

OTHER MATERIALS

• Hardwood lumber: 
3/4" x 5" x 48" (4)* 
3/4" x 3" x 48" (12)* 
1 3⁄4" x 1 3⁄4" x 10" (4)

• MDF or other sheet stock
• Your choice of finish
• Your choice of fabric
• 17 3⁄4" x 30 3⁄4"  x 2" foam

www.rockler.com
800-279-4441

* Available from Rockler

50593  Rev. 8/14	 © 2014 Rockler Companies Inc.



1. CUT THESE PIECES 2. BUILD THE ENDS

ROLLING OTTOMAN
Simple construction techniques and signature 
Rockler hardware provide form and function.

1/2" THICK MDF or ALTERNATE MATERIAL

3/4" THICK WHITE OAK or OTHER HARDWOOD

1 3⁄4" THICK 
WHITE OAK 
or OTHER 

HARDWOOD

17 3⁄4"

15 1⁄2"

10"

16 1⁄2"

31"31" Use #8 x 1 1⁄2" screws and 
decorative washers to attach all 
pieces except for bottom slats.

For bottom slats, use only screws.

Predrill all holes to avoid splitting 
the wood.

30 3⁄4"

5" 3"

3"

1 3⁄4"

5"

x8 x8

#8 x 1 1⁄2"  
Recex Combination 
Recess Screw, Zinc
42318

Decorative  
Washers
(Nickel)
70565

A

A

C

F

D

E

B

B

x1

x4

x4

x4

x2

x4

x4

x12

50593  Rev. 8/14	 © 2014 Rockler Companies Inc.



ROLLING OTTOMAN
Customize with a wood species and fabric that 
complements the rest of your living space.

3. ADD THE SIDES 4. ATTACH THE BOTTOM

x24 x22x24

C

x4

Use #8 x 1 1⁄2" screws 
and decorative washers 
to attach all pieces.

Predrill all holes to avoid 
splitting the wood.

Use #8 x 1 1⁄2" screws without 
decorative washers to attach 
bottom slats.

Predrill all holes to avoid 
splitting the wood.

D

x6

#8 x 1-1/2" #8 x 1-1/2" 

50593  Rev. 8/14	 © 2014 Rockler Companies Inc.



ROLLING OTTOMAN
Finish off and protect your project with your 
own choice of stain and/or topcoat.

5. BUILD THE TOP 6. BRING IT ALL TOGETHER

D

x6

E

x2

x2

x24

x24

1"

UNDERSIDE - FRONT

UPHOLSTERED TOP - CROSS SECTION

Use #8 x 1 1⁄2" screws 
and decorative washers 
to attach all pieces.

Predrill all holes to avoid 
splitting the wood, but 
make sure not to drill 
through top slats.

Cut foam to 17 3⁄4" x 30 3⁄4" 
and align on Part F. Upholster  

with fabric of your choice. 

A

A

SECTION A-A 
SCALE 1 : 2

F

Foam

Fabric#8 x 1 1⁄2"

#8 x 1 1⁄4"  
Recex Combination 
Recess Screw, Zinc
42315

40 lb. Torsion  
Hinges 46591

Large Round 
Door Bumper 
Cushions 
37931

60 lb. 
Torsion  
Hinge 
46252

x4

x2

Black Leather 
Handle 90192

Use mounting 
screws and follow 
instructions included 
with casters.

Use #8 x 1 1⁄4" screws with washers 
to attach upholstered top.

Note:  
Install 60 lb.  
Torsion 
Hinge in 
center 
position.

x4

Pinned Loops  
- Nickel 20839

Heavy-Duty 
4" Swiveling Casters 

47582

x4

50593  Rev. 8/14	 © 2014 Rockler Companies Inc.


